



Name: _____

Date: _____ Score: _____

$6 - (-7) =$

$3^2 + (-4) =$

$7^{(-2)} + (-6) =$

$1^{(-1)} + (-7) =$

$10^0 - (-9) =$

$(-8)^{(-2)} - (-7) =$

$10^{(-2)} + 3 =$

$1^{(-1)} - (-10) =$

$(-7)^2 - (-2) =$

$(-6)^2 - (-10) =$

$(-9)^{(-1)} - 9 =$

$(-3)^2 - 7 =$

$(-9)^2 - 4 =$

$(-3)^{(-2)} + (-9) =$

$(-2)^2 - 1 =$

$(-8)^{(-2)} - (-3) =$

$(-9)^{(-1)} - (-1) =$

$(-9)^{(-2)} + 10 =$

$(-3)^{(-1)} + 4 =$

$10^0 - 8 =$



Name: _____

Date: _____ Score: _____

$$6 - (-7) = 13$$

$$3^2 + (-4) = 5$$

$$7^{(-2)} + (-6) = \left(-\frac{293}{49}\right) = \left(-5\frac{48}{49}\right)$$

$$1^{(-1)} + (-7) = (-6)$$

$$10^0 - (-9) = 10$$

$$(-8)^{(-2)} - (-7) = \frac{449}{64} = 7\frac{1}{64}$$

$$10^{(-2)} + 3 = \frac{301}{100} = 3\frac{1}{100}$$

$$1^{(-1)} - (-10) = 11$$

$$(-7)^2 - (-2) = 51$$

$$(-6)^2 - (-10) = 46$$

$$(-9)^{(-1)} - 9 = \left(-\frac{82}{9}\right) = \left(-9\frac{1}{9}\right)$$

$$(-3)^2 - 7 = 2$$

$$(-9)^2 - 4 = 77$$

$$(-3)^{(-2)} + (-9) = \left(-\frac{80}{9}\right) = \left(-8\frac{8}{9}\right)$$

$$(-2)^2 - 1 = 3$$

$$(-8)^{(-2)} - (-3) = \frac{193}{64} = 3\frac{1}{64}$$

$$(-9)^{(-1)} - (-1) = \frac{8}{9}$$

$$(-9)^{(-2)} + 10 = \frac{811}{81} = 10\frac{1}{81}$$

$$(-3)^{(-1)} + 4 = \frac{11}{3} = 3\frac{2}{3}$$

$$10^0 - 8 = (-7)$$